258 (&) HBEX
288 (RA) =z nasH— K T80 5

B (&) RE-EHTIh
48 (R) £1E81L- L2 EMEES
298 (&) £ EMZES

STSEE TRITETE(BHA)
JE U7 31 B #7 P #AR
B |® 2 B2 | & 26 3 B TH| 2O
S
2 | B
4 FERARL (BX)
3 | B|B62345] 50%6 4 | 15:40
(BFSKANBR T 8)
4 | K 50x6 |DBERE (FEE) % | 15:40 sC
5 | K 50%5 % | 14:40
6 | K [NOZENOEZRET —| 50%6 2 |50 1CT
7 | & if;gfm 50%6 & | 1540
8 | £
9 | H
0| A P e | i
Ik (%i#;{ﬁ; 454 £ |13:20 sc
12 | K| |7KI233& 45%4 % |13:20]| 1CT
13 | & g}ﬁéﬂzx 45x4 £ |13:20
14 | & | <3456 45x4 % | 13:20
15|+ FR AR 1A
6 | 8 FR AR 1A
17 | A oY=
18 | K| Y&1234 45%4 & | 13:20 (tigj\)
19 | K %i%@;ﬁﬂ%ﬁgu. 4sx4 |(DRE Q%% Q%% =L | 12:30
20 | K |RRERX 45%2 %L | 10:40
21 | & BFR%XH .
HXERKIEE
22 | £
23 | H
24 | B (EEHR#R ICT
25 | K |EEHR#¥H
26 | K |EEZHR#¥H
27 | K |EEHR#ER
28 | & (BEEHKR#ER
29 | £
30 | H
31 | B |EEHK%H ICT
(BAITETFZE] [9R1TEFE]




